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A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I =(—u®® —u* b+, 3u® 3 a1, w20 —u 1)
=(-ud+b+u+1, —u®+3u+u>—2u%>+a—u—2, u® —u” —3ul +2u° + 3u* — 2u — 1)

* 2 irreducible components of dim¢ = 0, with total 37 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
It = (—u®®—u?"+. .-+ btu, 3u®®+3u? +.--+a+1, u?*+2u*®+...—u+1)

(i) Arc colorings

—3u?® —3u? . —u—1

(
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ay =

wll — 44 + 40" + 2u® — 3ud — 2u
ag = \ —u1 4+ 5ut — 90 +6u” —ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes

= —5u?® — 4u?7 + 53u26 + 33u2® — 247u2% — 102023 + 634u32 + 96wt — 879u20 +
2144 4+ 36208 — 658u!” + 771ul® + 486u!® — 1175u + 371u!3 + 217u'? — 670u!! +
671610 — 1249 — 364u® + 380w — 164u® — 26u® + 109u* — 112w + 24u? — 15u — 1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u? +45u% 4+ 63u+ 1
C2,Cyq P —9u® 4+ —1hu+1
3, C8 u? +u® ... — 640u + 256
Cs, C7 u +6uB - —2Tu—7
Cg, C10, C11 W —2u® 4 —u—1
Co u?? 4+ 2u® + -+ + 84Tu — 505
c12 u? + 300+ —u41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 y* —113y%% 4+ - 4+ 3195y — 1
2,4 y? —45y* .. 163y — 1
¢, Cs v 4+ 51y?8 + - 4 835584y — 65536
cs, C7 y? +24y%8 + ... + 239y — 49
€65 €105 C11 Y 24y oy — 1
Co y?) 24978 + ... — 2572161y — 255025
12 Y + 60y 4+ —y—1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

0.116211 + 0.8661761
0.518979 — 0.3908791
b= 0.83718 — 3.003481

—18.1545 + 6.44571

—0.28264 — 3.133151

u= 0.116211 — 0.8661761
0.518979 + 0.3908791
b= 0.83718 + 3.003481

—18.1545 — 6.44571

—0.28264 + 3.133151

0.025688 + 0.8250881
a = —0.594569 + 0.4593521
b= —0.23014 + 2.320021

—6.93251 + 1.752561

—0.94314 — 1.344881

u = 0.025688 — 0.8250881
a = —0.594569 — 0.4593521
b= —0.23014 — 2.320021

—6.93251 — 1.752561

—0.94314 + 1.344881

u= 1.19941
a= 2.02803
b= —1.96066

0.978770

8.30090

u = 1.149060 4 0.4311641
a = —2.80477 — 0.747411
b= 1.17842 + 2.473701

—14.9885 — 1.79911

2.59660 — 0.523771

u=1.149060 — 0.4311641
a = —2.80477 + 0.747411
b= 1.17842 — 2473701

—14.9885 4 1.79911

2.59660 + 0.523771

u = —0.078085 + 0.7555761
a= 0.230600 — 0.2785481
b= —0.073065 — 0.7031591

—2.53613 — 2.067911

5.52324 + 3.000731

u = —0.078085 — 0.7555761
a= 0.230600 4 0.2785481
b= —0.073065 + 0.7031591

—2.53613 + 2.067911

5.52324 — 3.000731

u = —1.215610 4 0.2964841
a= 0.992404 — 0.1463861
b= —0.306342 + 0.4315131

0.91968 — 1.735081

8.51016 4 0.615101




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —1.215610 — 0.2964841
a= 0.992404 + 0.1463861
b= —0.306342 — 0.4315131

0.91968 + 1.735081

8.51016 — 0.615101

u = 0.497421 + 0.5447351
a = —1.52270 + 0.490211
b= 0.327073 — 0.5725051

—12.40890 4 1.961821

2.44090 — 3.228751

u = 0.497421 — 0.5447351
a = —1.52270 — 0.490211
b= 0.327073 + 0.5725051

—12.40890 — 1.961821

2.44090 + 3.228751

u = —1.274370 + 0.0826751
a= 0.269484 + 1.3451401
b= 0.022151 — 0.3264891

2.70011 — 2.017561

7.88389 4 3.973121

u = —1.274370 — 0.0826751
a= 0.269484 — 1.3451407
b= 0.022151 + 0.3264891

2.70011 + 2.017561

7.88389 — 3.973121

u = 1.248070 + 0.3699471
a= 1.89588 +1.190401
b= —0.78649 — 2.393701

—3.15292 + 2.544461

2.89231 — 2.357541

u = 1.248070 — 0.3699471
a= 1.89588 —1.190401
b= —0.78649 + 2.393701

—3.15292 — 2.544461

2.89231 4 2.357541

u = —1.289030 + 0.3699091
a = —2.15007 + 1.656471
b= 0.23955 — 2.158821

—2.83662 — 6.049671

3.35930 4 4.531041

u = —1.289030 — 0.3699091
a = —2.15007 — 1.656471
b= 0.239554 2.158821

—2.83662 + 6.049671

3.35930 — 4.531041

u= 1.35324
a = —0.560180
b= 10.713936

5.98164

16.6760




Solutions to I}

V=1(vol + y=1C)

Cusp shape

1.321100 + 0.3243481
a = —0.492619 — 0.5462311
b= 0.144058 + 0.9218021

u =

1.85790 + 5.976241

10.99426 — 4.769721

u= 1321100 — 0.3243481
a = —0.492619 + 0.5462311
b= 0.144058 — 0.9218021

1.85790 — 5.976241

10.99426 4 4.769721

u = —1.350820 + 0.3842181
a= 1.84401 — 2.849171
b= 0.46306 4 3.286111

—13.5440 — 10.93721

3.78628 4- 5.287471

u = —1.350820 — 0.38421871
a= 1.84401 + 2.849171
b= 10.46306 — 3.286111

—13.5440 4 10.93721

3.78628 — 5.287471

u = —1.41186 + 0.137211
a = —0.04816 — 1.430921
b= —0.645077 + 1.1833401

—6.30066 — 4.180731

6.94767 4 2.860221

u=—1.41186 — 0.137211
a = —0.04816 + 1.430921
b= —0.645077 — 1.1833401

—6.30066 4+ 4.180731

6.94767 — 2.860221

u = —0.378524
a= 0.615391
b= 0.176038

0.641421

15.6290

u= 0.175172 4+ 0.2916031
a= 0.31991 — 2.022551
b = —0.635045 + 0.4424201

—1.62334 4 0.701731

—1.51173 — 3.135171

u= 0.175172 — 0.2916031
a= 0.31991 + 2.022551
b= —0.635045 — 0.4424201

—1.62334 — 0.701731

—1.51173 4+ 3.135171




IL 1Y =
(—ul+b+u+1, —ub+3ut+u®—2u?+a—u—2, u®—u"—3ub+2u’+3ut—2u—1)

(i) Arc colorings
1
ag
0
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1
u?

o)

u6—3u —u + 2u? —|—u+2)

¢
(
o= (L
(
()
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(-
(
e
e

ail =

as = w—u—1
as =
w—2ut —wd+ui+u+1
az = u+2u +ud—u?—u—1
ut
ay = ub +2u — 2
ub — 3u?t —u +o2ul+u+2
a4 = w—u—1

U

U

U +u2
u —2u2

—ut +u?+1
ag = ut — 22

(ii) Obstruction class =1

(iii) Cusp Shapes = u7 + 2u’ — 2u® — 8u* — 3u® + Tu? + 8u + 7



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

C1,C2 (u—1)3

cs3,Cs u®
€4 (u+1)3

cs, C7 u® + 30" 4+ Tub + 100’ + 11u? + 10u® + 6u? + 4u + 1
6 u® —u” —3u® + 2u° + 3ut — 2u — 1

Cg, C12 W w2 ut — 203+ 2u—1

€10, C11 u® +u” —3u8 —2u° +3ut +2u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
8
C1,C2,C4 (y_l)
C3,C8 y8
cs, C7 y® 5y +11y5 + 615 — 17yt — 3493 — 2297 — 4y + 1
€6, C10, C11 y® — Ty" +19y° — 22y° + 3yt + 14y° — 6y — 4y + 1
cy,C12 y® — 3y + 7y® — 1095 + 11y* — 1093 + 62 — 4y + 1
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —1.180120 + 0.2685971
a= 1.53392 — 0.140907
b= —1.20799 + 0.834231

—0.604279 — 1.1312301

3.90459 + 0.805111

u = —1.180120 — 0.2685971
a= 153392 + 0.140901
b= —1.20799 — 0.834231

—0.604279 + 1.1312301

3.90459 — 0.805111

u = —0.108090 + 0.7475081
a = —0.322641 + 0.1444811
b= —0.711982 — 1.1389901

—3.80435 — 2.578491

—0.21961 + 3.881751

u = —0.108090 — 0.7475081
a = —0.322641 — 0.1444811
b= —0.711982 + 1.1389901

—3.80435 + 2.578491

0.21961 — 3.881751

u= 137100
a= 0.595007
b= 0.205997

4.85780

7.82890

u=1.334530 4 0.3189301
a = —0.47742 — 1.642471
b= —0.365014 + 1.3526401

0.73474 4 6.443541

4.50908 — 6.041011

u= 1334530 — 0.3189301
a=—0.47742 + 1.642471
b= —0.365014 — 1.3526401

0.73474 — 6.443541

4.50908 + 6.041011

u = —0.463640
a= 193726
b= —0.636025

—0.799899

4.78300
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (w—1)%)(u?® + 450 + - +63u+ 1)
C2 (u—1)W* —9u?® +--- —15u+1)
cs, Cs ub(u® 4+ u®® + - — 640u + 256)
C4 (w4 1D W® —9u?® + .- — 15u +1)

(u® + 3u” + 7u® 4+ 10u® + 11u?* + 10u® + 6u® 4 4u + 1)

Cs, C7
(U +6u 4 —2Tu - 7)
6 (u® —u” —3uS +2u® + 3ut —2u—1)(u®® —2u* - —u—1)
Co (u® —u” 4+ 2u —1)(u® + 2u® + - + 84Tu — 505)
€105 C11 (u® +u” —3ub —2u® +3u +2u — 1) (u®® —2u* - —u—1)
C12 (u® —u” 4+ 2u—1)(u? +30u* - —u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 ((y — ¥ — 113y*® + - + 3195y — 1)
c2, ¢4 ((y =% (y* — 459> + - + 63y — 1)
Cs, Cs v (y* + 51y + - - - + 835584y — 65536)
. (y® 4 5y" + 1195 + 615 — 17y* — 34y — 2292 — 4y + 1)
(y*? 4 24y*8 4 -+ - + 239y — 49)
C6. €10, C11 (y® — Ty +19y° — 22¢° + 3y* + 149> — 6y* — 4y + 1)
W 24y 4 -y - 1)
co (y° = 3y" +7y° = 10y° + 11y* — 10y> + 6y — 4y + 1)
(y® + 2498 4 .- — 2572161y — 255025)
1 (y® = 3y" + 7y® — 10y° + 11y* — 10y + 6y* — 4y + 1)

Sy 60y + -~y —1)
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